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| |
TITech Grid Gaussian Condor
Titech GRID Gaussian98 Gaussian03
m TITech Grid Condor
TITech Grid Condor
Condor (xx)
Submit ( )
tgn002001.g.gsic.titech.ac.jp (172.17.2.1), tgn003001 (172.17.3.1), tgn003002 (172.17.3.2),
tgnbin (172.17.1.1)
A (256 cpu/ 128 ), Bl B2 (256 cpu/ 128 ),
(168 cpu/ 82 )
680 cpu 7/ 340 a Pentium Ill 1.4GHz x 2 cpu, 1GB , 60GB
)
m Titech GRID
Submit ssh telnet
m Titech GRID Gaussian
Gaussian
Gaussian

csh

% setenv  g98root /usr/local
% source $g98root/g98/bsd/g98.login
% setenv GAUSS SCRDIR /work

% setenv  g03rooot /usr/local
% source $g03root/g03/bsd/g03.login




bash

$ export g98root=/usr/local $ export g03root=/usr/local/
$. $g98root/g98/bsd/g98.profile $ . $g03root/g03/bsd/g03.profile
$ export GAUSS_SCRDIR=/work

m Condor Gaussian
1)
NQS Gaussian
#/bin/csh -f
#QSUB -| mpp_p=2
#QSUB -q E

setenv g98root /usr/local
source $g98root/g98/bsd/g98.login
setenv GAUSS_SCRDIR /work
cd ${HOME})/gaussian

g98 < h2o.dat >& h20.out

1 h2o.csh
Condor Gaussian
Submit ( )
Condor
NFS /home
G98 GO03 Gaussian
/usr/local
(2) Submit
Submit Condor

h2o0.csh Condor Submit



Universe = vanilla

Executable = h20.csh

Error = h2o.err

Log = h20.log

Environment = HOME=/home/cc/gusr17
Initialdir = /home/cc/gusrl7/test/G98
Queue 1

2 submit
Submit 1 1
Universe Gaussian vanilla
Executable h2o0.csh
Error
Log

Environment

Initialdir Error Log
/home/cc/gusrl7/test/G98 h2o.err, h20.log

Queue 1
Submit
h2o.csh Gaussian
Condor Submit

Condor Gaussian

m Titech GRID Gaussian

Universe = vanilla
Executable = Zusr/local/g98/g98
Initialdir = /home/cc/qusrl7/test/G98

Input = h2o.dat
Output = h20.out
Error = h2o.log
Getenv  =True
Queue 1

3 submit h20.sub




submit 1 h20.csh 1
098 < h2o.dat > h2o0.out
Input Initialdir
Output Initialdir
Getenv submit Gaussian
True
submit
Condor
Gaussian
submit
Universe = vanilla
Executable = /usr/local/g98/g98
Intialdir = /home/cc/gusrl7/test/G98/
Input = sample.$(process)
Output = sample.$(cluster).$(process)
Error = sample.$(cluster).$(process)
Log = sample.log
Getenv = True
Notification = always
Notify user = gusrl7@xxxtitech.ac.jp
Queue 3
4
Submit $(process)  $(cluster)
Condor
$(cluster)
$(process) 4
5 Queue 3
0,12 3
4 submit 5
0 998 < sample.0.dat > sample.5.0.out sample.5.0.err
1 098 < sample.l.dat > sample.5.1.out sample.5.1.err

2 098 < sample.2.dat > sample.5.2.out

sample.5.2.err




/home/cc/gusrl7/test/G98/
Log sample.log

cluster  process

Notification Notify user
Notification= Always
gusrl7@xxx.titech.ac.jp

Condor Condor Condor

condor status

% condor_status

Name OpSys Arch State Activity LoadAv  Mem  ActvtyTime
vm1@tgn002002 LINUX INTEL Owner Idle 0.920 504 0+00:08:29
vm2@tgn002002 LINUX INTEL Unclaimed Idle 0.000 504 0+03:38:30
vm1@tgn002003 LINUX INTEL Owner Idle 0.810 504 0+00:03:28
vm2@tgn002003 LINUX INTEL Unclaimed Idle 0.000 504 0+03:33:30
Machines Owner Claimed Unclaimed Matched Preempting
INTEL/LINUX 518 22 3 493 0 0
Total 518 22 3 49 0 0

condor status

Owner Claimed  Condor

Unclaimed

submit condor_submit

% condor_submit h2o.sub
Submitting job(s).

Logging submit event(s).

1 job(s) submitted to cluster 27.

condor_submit

condor_submit submit h2o0.sub
Condor
(cluster) 27



mailto:gusr17@xxx.titech.ac.jp

condor _q
% condor_q
-- Submitter: tgn002001.g.gsic.titech.ac.jp : <172.17.2.1:32784> : tgn002001.g.gsic.titech.ac.jp
ID OWNER SUBMITTED RUN_TIME ST PRI SIZE CMD
270 gusrl? 6/16 16:35 0+00:00:00 | O 0.0 ¢98
1 jobs; 1 idle, O running, 0 held
condor _q
Submit ST
I Idle( ) R Running( ) H  Hold( )
(Dlog (2) (3)condor _history
3
(1) log
submit Log

000 (8135.000.000) 05/25 19:10:03 Job submitted from host: <128.105.146.14:1816>
001 (8135.000.000) 05/25 19:12:17 Job executing on host: <128.105.165.131:1026>

005 (8135.000.000) 05/25 19:13:06 Job terminated.

(1) Normal termination (return value 0)
Usr 0 00:00:37, Sys 0 00:00:00 - Run Remote Usage
Usr 0 00:00:00, Sys 0 00:00:05 - Run Local Usage
Usr 0 00:00:37, Sys 0 00:00:00 - Total Remote Usage
Usr 0 00:00:00, Sys 0 00:00:05 - Total Local Usage

9624 - Run Bytes Sent By Job

7146159 - Run Bytes Received By Job

9624 - Total Bytes Sent By Job

7146159 - Total Bytes Received By Job

log

@)
Submit Notify user

From condor Wed Jun 16 17:09:23 2004
Date: Wed, 16 Jun 2004 17:.09:23 +0900
From: condor@tgn002001.g.gsic.titech.ac.jp
To: gusrl7@tgn002001.g.gsic.titech.ac.jp




Subject: [Condor] Condor Job 30.0
This is an automated email from the Condor system
on machine "tgn002001.g.gsic.titech.ac.jp”. Do not reply.

(3) condor history

Y%condor_history
ID OWNER SUBMITTED RUN_TIME ST COMPLETED CMD
1.0 qusr20 3/17 10:32 0+00:03:03 C 3/1710:35 /home/cc/gusr20
3.0 gsic005 5/8 1151 0+00:00:00 X 5/8 1152 /bin/hostname-a
4.0 gsic005 5/8 1155 0+00:00:01 X 5/8 1155 /bin/hostname
5.0 gsic005 5/13 16:36 0+00:00:02 C 5/1316:36 /home/exp/gsicO
condor _history
condor_history submit condor _q
ST C
X condor_rm
Condor
(1) condor_rm
condor_rm C
condor_submit submit condor_rm
(cluster) . (process)
ID 5 50,5152
% condor_rm 5
5.0,5.1,52
% condor_rm 5.1
51
% condor_rm -all
condor_rm

(2) condor_hold condor _release
condor_hold
kill




co

ndor_q ST H
condor release

% condor_hold

%condor _release

condor_hold condor release

(3) condor prio
) - )
% condor_q
-- Submitter: perdita.cs.wisc.edu : <128.105.165.34:1027> :
ID OWNER SUBMITTED RUN_TIME ST PRI SIZE CMD
1.0 frieda 6/16 06:52 0+00:0211 R 0 00 myjob
% condor_prio +5 1.0
% condor_q
-- Submitter: perdita.cs.wisc.edu : <128.105.165.34:1027> :
ID OWNER SUBMITTED RUN_TIME ST PRI SIZE CMD
1.0 frieda 6/16 06:52 0+00:02213 R 5 0.0 myjob
condor_prio

SGl
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	Universe    = vanilla
	Log        = h2o.log
	Executable  = /usr/local/g98/g98


